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B E B ITat BA RBEXHE ELFEE WIEFEHE BRKRE e
—EE-_F—fF—H
— REH23% 2,134 4,476 1 24,863 2,284 33,758
— RERBZAHAAZ (2BWE=1) = - - (4,468) - (4,468)
- BER 2,134 4,476 1 20,395 2,284 29,290
BME TS FIEME R Z5 :
— BN B A A - - 40 - - 40

— BN E AT - - 48 - - 48
R 1B IR R A F IR &= - - 88 - - 88
BRZENIRE 2 EFERARE - - - - (2,284) (2,284)
AEE RN (EER) = - - 6,624 - 6,624
EfFERE — - - (1,238) - (1,238)
FORAKER S (2B M=+ (F)) = = = (2,412) 2,412 -
—EE_F+-A=+—H 2,134 4,476 89 23,369 2,412 32,480
—EE=F—f—H
— RH23% 2,134 4,476 89 28,040 2,412 37,151
— REHIBZAHAAZE (2BWE=1) - - = (4,671) - (4,671)
- BER 2,134 4,476 89 23,369 2,412 32,480
BME TS FIEME N Z5 :
— BN B A A - - 255 - - 255

— BN E A F] - - 169 - - 169
R B IR R A F IR &= - - 424 - - 424
EZETIRE 2 EFERBRE = - - - (2,412) (2,412)
N Z i T - - - 6,057 - 6,057
B FHRE - - - (1,238) - (1,238)
FORAKERE (2BMZE+ (F)) - - - (2,412) 2,412 -
—EE=F+=-H=+—8H 2,134 4,476 513 25,776 2,412 35,311
REZZTE=F+=-A=+—H SERZFEEELISERGLEE AR ZRBEMEENE=FT B8 (ZEE=F
ARENT-_B&ET)
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D F
B E BT A BRAE BRAEE WHEEE BHRKRS 2
—ZET-_F—-H—H 2,134 4,476 17,581 2,284 26,475
ERETIKE 2 EFERAKRE - - - (2,284) (2,284)
2R B A = = 5,805 = 5,805
B B AR S = = (1,238) = (1,238)
BURARHBE (2RMET (F)) - - (2,412) 2,412 -
—EE_F+-_HA=+—H 2,134 4,476 19,736 2,412 28,758
—ET=F—H—H 2,134 4,476 19,736 2,412 28,758
ERELIREZ FFERARE = - - (2,412) (2,412)
R4 & A = = 3,692 - 3,692
ERHHRE = = (1,238) - (1,238)
R R (2B M ET (F)) = - (2,412) 2,412 -
—BB2=F+=-RA=+—-8H 2,134 4,476 19,778 2,412 28,800
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